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coca«- [A] 
P a rt - I :  Child Development and Pedagogy 

I. An infant holds a toy initially using 3. 
his palm, s he grows holds it with 
fingers. The development principle 
that explains this . 

(1 Development is predictable. 

(2) Development is interrelated. 

(3) Development proceeds in 
cephalo caudal direction. 

(4) Development proceeds from 
general to specific. 

: 2¢ 0 24302 

deLaza.2cur22a2: 
Wee. ¢ 2 0 p= .  

(1 •• .Ste:ts. 

(2) Le:sag4ea. 

(3) A A 2e%a 22tcD. 

.(4) 2 ue c s e.  tc  4  

•u=. 

A student studies hard to retain the 
'star', awarded for her best 
performance in class as she was 
told by the teacher that she will 
loose the star if her performance 
decreases, 'The reinforcement that 
is making the student to study hard 
is .... 

(D) Negative reinforcement 
(2) Positive reinforcement 
(3) Primary reinforcement 
(4) Punishment 
0R, co4'g0et1Rc»ma 
cl st0be be (star) 
teteg5egg ± 222. 0l 

er 

.2 0t "zbe tee' 
±e Agace a 2lg 

seal p zeta baa: 
&co. 

(1 err02cote 

2) 40%+= 
(3) t7¢0t 
(4) %& 

(1 
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(3 

gee' 

duke 
. . 

A class VIII student helped her 
classmate in learning English. 'The 
transfer of learning that has taken 
place is • 

(D Positive 
02 Negative 
(3) No transfer of learning 

occured 
(4) Bilateral 

" t ee "  i i i  

¢es' z # d z 2  
avouez 

(1) e 

(2) 2Ue 

(3) test eta 

00 22v%¢ 

2. One of the following is not a ; 
characteristic of emotional 
development during adolescence 

(1) Generalised excitement. 

(2) Emotional instability 

(3) Fear and anxiety, 

(4) Confusion and uncertainty 

ct de ' au' t a  
eueeur 
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5. One of the following is suggested by 7. 
NC-2005, with regard to learning. 

t) Learning should take place 
within the class room only 

(2) Students should be passive to 
acquire the knowledge from 
the teacher. 

(3) Learning should be teacher 
directive. 

(4) Learning should be in the 
wider social context. 

so s : = e s,= 2,  NCF-2005 

.le. 

(2) 4et e et. 

ta2el0 7 Aw 
agave deco. 

ooa«ca [A] 
Heterogeneity of the class room 
shall be viewed by the teacher as 
a .... 

(1) Source for learning. 

(2) Hurdle for students' 
adjustment. 

(3) Need for segregation of 
students for class room 

transaction, 

(4) Burden for teacher 

dotes zebu 0001A5tat 

La%. 

(3) 8 'gal 10,00 
Luten 

6. 

(4 

The physical factor that effects the 
development of an individual. 

(I) 'Temperature 

02 Food 

(3) Hormones 

(4 Light 

8. A student of class V frequently 
exhibits temper tantrum. This 
indicates that the child has problem 
relating to this domain, 

(1 Cognitive 

(2) Conative 

(3) Affective 

(4) Psychomotor 

p e a  

a w + . wo e  

2ea2et $+as it=m24 2e0 

9s0. 

(I) Rte 

2 ala­ 

(3 4gt 
2 

(4 a 

(I) 

(2) 

«3 

(4 



interactive 
is a passive 

Teaching is an 
process, learning 
process 

0 c  
%  

cur­ 

(4) ±; 0 oc 0±c: 22% 
, % i d  

w l o  

Identify the correct statement from 
the following: 
(I) 

(2 Teaching is a passive process 
learning is an interactive 
process 

(3) Both teaching and learning 
are interactive processes 

(4) Both teaching and learning 
are passive processes. 

(I) 

(2 

(3) 

ace eeo Rao a st 
ee.cubed:±ewe:dz 

12. 

ooaace- [A] 
11. According to Piaget theory, a child 

attributing life to inanimate objects 
is • 

(1) Object permanence 

t2) Animism 

(3) Organisation 

(4 Reversibility 

z : . 0 C o %:  
o  

3» 

(4 

( ±#-re 

c2 ±±:e 

(3 i 

(4) cab,2> 

A student who has not studied 
properly, to cover his faults, blames 
the teacher, saying that the teacher 
has not taught properly, .... is an 
example of this defense 
mechanism. 

(1 Projection 

(2) Rationalisation 

(3) Compensation 

(4) Identification 

t z. ± tag u o±et: 

2 5%  boss La 

ext:ace+ca+20=p 

10. Students of class V could not 
understand the lesson as it was not 
organised sequentially 

The factor of learning that 
effected the understanding of 
students is _.. 

tI) Personal. 

(2 Environmental. 

(3) Personal and Environmental. 

04) Neither personal nor 
environmental 

2 e s . . 4 . + 8 2 . : ¢ L e 5  
o w e  

van¢ 2cs age ts 2u:. 

-=ee :. pots ± cw 

=�:� 

1 3 

(2 ±%,2 

9. 
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(I) 

c2 

«3 
• 

(2) ;± 

c3 • ~·--:1•!/ 

(4 
'2= 

The plateau' in the learning curve 
indicates .... 
(D) Learning is completed. 
(2 Learning began. 
(3) Increase speed in learning. 
(4) Temporary arrest in learning. 
¢zt¢'gs.a0. 

(I) 

(2 a&es.tee 

(3 cs'tree 
(4) &ad'eoUte 

t2) 2 wee 

(3) a c e  

(4 2cc7oz 

17. As per Havighurst 'Developmental 
tasks' are .• 

(1) Social expectations 
(2 Medical norms 
(3 Learning interests 
(4) Educational mile stones 

2 =,220 

t eluate: 

16. 

o«ca [A] 
15. As per the 'social constructivistic 

theory of learning' the role of the 
teacher in the class room isa/an •. 
(I) Demonstrator 
(2) Instructor 
(3) Facilitator 
(4) Spectator 

(4) so es 2ea 

•• 

4. A boy in your class always looks 
confused and indecisive. As a 
teacher you would .• 
(1) take decision for him. 

(2 tell him to approach elders. 

(3) provide him guidance to take 
appropriate decision, 

(4) ask him to follow the 
instructions of teachers 

3) ox0± .± 4?' t' 
0±. 

(0) sec&tats. 

3. If all the high schools are provided 
with sophisticated educational 
technology .... 

(I) Teachers can be replaced 
totally. 

(2) One teacher can handle all 
classes. 

(3) Provision of 'one teacher fee 
one class' is sufficient. 

(4) 'Teachers can not be replaced. 

eels! uct;: ow 

4 
w o w % % % ,  
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18. One of the following with regard to 
learning is more appropriate ; 

() emphasis on process and 
memorization. 

(2 emphasis on outcome and job 
placement 

(') emphasis on success in 
examinations 

(4) emphasis on process and 

outcome 

(I) 

19. The stage of cognitive development 
enumerated by Bruner which is 
characterized by child's 
representation of things and events 
in terms of non-verbal activities, 
represents . 
( Iconic representation stage. 

(2) Enactive representation 
stage 

(3) Information representation 
stage 

(4) Symbolic representation 
stage. 

Sao2oeN:lee 
ego;spec;/ala 

ow.e=elect..... 

( p l  

2) Jog/a0 

(3) :le+202¢ 

64 
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vooa«ca- [A] 
20. As per the Right of Children to Free 

and Compulsory Education Act­ 
2009, the child has the right to get 
free education, if his age is 
between .... 

(I) 3-12years 

(2) 4.13years 

3) 5 - 1 4  years 

(4 6 . 1 4  years 

RTE-2009 ±gs =%¢ v+poet e 

goto0a±el:20. 

( () 3-12ece 

(2) 4.13ebc 

(3) 5-4el0so 

(4 6-14a05% 

21. To learn about the agricultural 
practices a child meets farmers, the 
resource he uses is 

(I Self 

(2 Home 

(3) Community 

(4) 'Technology 

zoo pee pe' es 
c?poet,cote: 

(  () 

c2 
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22. To conduct a teaching learning 
activity, the teacher has to follow 
this sequence ... 
(a) identification of suitable 

strategies and methods. 

tb) assessment of learners' 
capacities. 

(e) evaluation of learning and 
replanning 

d) identification of learning 
experiences to be provided. 

4a, 30%. 2clot-e5> 

4st±pa'ea5. 

g Lf% 0c 020 
• ¢ 

ope 

»a«ca- [A] 
24. A Headmaster takes decisions all 

by himself, this type of leadership 

(1 Laizzer faire 

(2) Democratic 

(3) Permissive 

(4) Autocratic 

3gt2act be 0 2g0et 

b5wt0el0o. 

(I) e% 

(2) ens, 

(3) le 
• 

(4 e +  

(b) 

(e) ocgl. lee ' 22: 
em22%%: 

(d) tee.e¢2we 
be. 

( b,da,e 

t2) e.d. a,b 

3) a, b,c,d 
(4) d,a. be.  

23. Over learning' leads to •• 
(1) Increase in proficiency 
(2) Decrease in learning 

(3) Decrease in memory 

(4) Causes disinterest. 

oooget±zbset 

()) "-'-�u.--..�.,_.� D o . a a %  

(2) ec. 2a 

(3) .105 3.0. 

(4) i!±tt:=° 
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25, A teacher who is not well, wants to 

take rest, but also thought of 
attending the school as 
examinations are approaching. 'The 
conflict that the teacher is 
undergoing •... 

(1 Approach - Approach 

(2) Avoidance - Approach 

(3) Avoidance Avoidance 

(4) Approach - Avoidance 

4soow each see igt@eo 
b5et, be 2 %¢ 

. " . 

et bee Diet 2es. 
• 

I7l 



29. All other abilities being normal, 
based on IQ level, the children who 
do not fall under 'Children With 
Special Needs' (CWSN among the 
following 
(1 Children with IQ 0-  20 

(2) Children with 1Q 30- 50 
(3) Children with IQ 90- 110 
(4) Children with IQ 130 and above. 
±cc 'e.soever de, 
Ge? sue sloe: me lge 
(CWSNS±De=lee: 

' - 
(D eet0-20sole: 

. . - 

02) ee& 30-502 e Ree 
(3) 2eret 90-II0z;tels 

­ 
(4) e2 1302tee 

According to Kohlberg, a child 
shows respect for authority and 
follows the rules during ..... 
(1 Pre conventional level 
(2 Conventional level 
(3) Post conventional level 
(4) Inter conventional level 
Cg.2g¢pi'up:et 
ue.Ice • 

7oco 

ea~o" 
Aguegza 

egau:a: ,_ - 

etc%­ 

1400 o0¢0¢±e 
.Etas 

(I) 

(2) 

(3 

(4 

oaa«ca- [A] 
Children remember the colours of 
rainbow as 'VIBGYOR' using this 
technique of memory 
(1) Mnemonics 
(2) Paired associated learning 
(3) Rehearsal 
(4) Clustering 
c go a25 4aet, 2go> 
=¢¢.: 'VIBGYOR' % 

ct±%%. 

(I) 

(2) 

(3) 

(4 

28. 

30. 

(I) chep=­ 

02 $ 
(3) tr 

woe 

(4 0r 

27. A teacher has developed a five point 
scale to know the students' 
preferences towards digital 
teaching. The tool developed by the 
teacher is ..... 
(1) Observation sheet 
(2) Questionnaire 
(3) Check list 
(4) Rating scale 

Ac 2=ge ?a,et 
v et : ± 4 t e e  
4, e a . e  

% .. w 6 w oe  

bets.ge 

(3) 2Ur=2&be5Me.cl±. 

(4) eob> 0 0 @ o h  a  
cs.et. 

26. One of the following should not be 

done by the teacher while teaching 
a lesson in the classroom. 

(1) Using previous knowledge 
and experiences. 

(2) Use of appropriate method 
and technology 

(3) Continuation of motivation 
continuously 

(4) Teaching by giving more 
importance to intelligents. 

e see' a2sac ~set. 
'get.gad'gee. 

(D 7 es ¢ v et  
tee. 
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cocoa [A] 
Part I I :  Telugu (Language - D 

(I) Deere­ 

(2) rs. 

(3 ea 

(4) See Asa 

(1 cc f 

02 .gee­ 

(3 eeeulee 

(4) ez:ego 

(3) cue2a. 

(4 'e eooo. 

35. =¢e0 220% 

oz'? 

( z2ea8.ze 

(2) &'st'eu 2ea2±ce 

(3) 4';ea2e 

34. 

33. + ±Re stet 2tree 2: 

.wsetse? 

be0 q 000,3Ile 35 
Ge eaee 9oto 

7vet bz 20  

t&¢.2 a.2. 20:± 

et" z 'uit et7el 
« 

dz. ':s's Au et4± 22 
vets. Lt et:De LC.: 

2a ,u erg'dt&els s 

wt.z042. %to # 

z%.c~le, ,2le, 

%els z::' zed re 
de Adze. a0Cs. see. 
%. 20.7 Gs0 5% 
de. I et vde Rudel cg 
.Rec. ph o o e z t z  

L e.  cod  z  5%  
•  

edbe, eb:,0, e 0Do 
. - 

0% Gee ee&et 2en 

a es. ale 5' 

&o #p.'red'e, e, 

Loe , bgszcea,at. 

opzvecl2, z 2a 0.D. 
z es t ,  ze 2ab 

Ave, e z s5 Leet 
we 

Loth,Pea2-etoad 
blue. 

31. me¢a 

(D ts=#±e 

(2) 0 + e %  
(3) pt2ape 

(4) :7e$ 

4%le, at 7 eerie • 

ce bet. ±¢: ± =. 

=> pd gt 4? 

ectc> ht> 2cadet' eead 

tza, t d ± #c'  

31-35: 

TET-311-EMTM [9) 



36.40: 464 1&1, 3185316. 8ls 1.55 

6et 101 13472 15901e. 

ce ks 
:zgoleo;el 0 
p±teases 

e±ore¢sec.wee. 

oo«ca [A] 

(1 2u 

02) tee=c 

(I) 0ego, 2 

(2) 1-00, %a4 

(3) £e,3,a 

(4) LU, ,S 

42. 

(1 

02) e.27%¢ 

c3) 2c'%=-­ 

(4) eucz%¢ 

(ll 

02 

(3) 

cote.us 

eataueeu 

L- gs � -.- .. � 

38. ·tac2at!ue 
(1 2 

(2 ; 

(3) 2re 

(4 2: 

(3) erg ±cu. 

(4) Lt220. 

39. « 

woe oh 

(1 ts,k, ct 

(2) 00e,re, +,5 
(3) 

(4 

( ebas 

c2) steel; 

(3 0 

(4) :i.;,i 

(2) 

(3 

(4 

±secs 

±gate: 

±ass cs 
- ' 

( 

(2) 

«3 

64 

40. ·!gt"Ape 
(1 ±gee:s 
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ooaac%a- [A] 

02) =z 

47. 
51. l e e £L ea 0 - = s &°  

•  •  M � �  0  

eacue 

c2) prov 

(3) utez 

48. 2e..220 

( I) �r" 

02 ---- --=- 

(3 pl 

(4 p 

49. 5 2cu et be.' c+ et° 

%' 

( :¢ 

(2 2e 

52. ·a> ze0; 0% ave. 2g¢ 
.0 10­ 

(2) zests2=&Au 

(3) ±es gt%us 

(4) 0%39e22u. 

53. # e grew-ts=a 

et%:e4'0 

(D else'et±new 

02 I'cs±gs-./ze!­ 
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(3) 2e ·  Ai 

(4) 2e+±% 

( e584 a.±­ 

(2) 2e a. 

(3) e $. 

(4) 8 g4»ad 

56. sc¢'gs;see.ken 
du 

ooaca [A] 

( 0s5 

(4 

60. es ?e s c+2lg 5a0,e2¢ 

12as 

(4 
()) 

57. gee ze 

(D govt0w0 

(2) :e$001ta 
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Booklet Code I A I 
Part- I H I :  English (Language II 

(61-65 Read the passage carefully. 
Child psychology is certainly not a 

strong point with most Indian schools. 
Whw else would it inflict a double trauma 
on a student faring badly in the pre­ 
boards by banning her from taking the 
exams ? Often with total results as 
evidenced by reports of student suicides 
in the run-up to the board. Now the 
Central Board of Secondary Education 
(CBSE) has stepped in and put the 
brakes on. 'This is good news for parents 
and students, many of whom have had to 

live with the threat of the performance­ 
linked department. While the schools 

logic is that in order to attract talented 

students, they need to maintain their 
performance records at high levels, the 
assumption that a student faring poorly 
the pre-boards will replicate this at the 
boards is faulty. Chances are that the 
student will be spurred to work doubly 
hard. On the other hand, the threat of 
the department will almost -certainly 
impact her/his performance adversely. Of 

course, linking pre-boards to the boards 
is only one of the problems with our 
school system. 

Now answer the following questions 
choosing the right options. 

6I. Choose the word which is most 

opposite in meaning of the word 
spur''as used in the passage 

( depress 

t2) enlarge 

(3) activate 

(4) sustain 

62, Choose the word which is similar in 
meaning to the word 'replicate''as 
used in the passage. 
(1 enhance 
(2) achieve 
(3) perform 
(4) repeat 

63. Which is the good news for parents, 
according to the passage? 
1 Schools will take the 

responsibility of preparing 
students for the board. 

(2 Schools will enforce discipline 
to ensure higher attendances 
of students.. 

(3«No students can be barred 

from the boards without prior 
clearance from the CBSE. 

(4) Schools will provide study 
facilities to the poor students 

64, Schools wanted to enforce 
performance-linked department in 
order to .•. 
( attract better quality 

students 
(2 get regular grant-in-aid from 

the education department 
(3 provide better study material 

to the students. 
(4) make students aware that 

they would aspire for their all 
round development 

65. According to the passage parents 
had to live with the threat of • .  
(D falling grades of their wards. 
(2) linking performance of their 

wards in pre-boards to the 
boards. 

(3 not getting their wards 
admitted in quality schools 

(4) schools creating traumatic 
situations for their wards. 

TET -31L-EM TM [ 13l  



(3) with 

(4) out 

70. () some 

(2) a 

(3) the 

(4) any 

66. (1) muttering 

(2) mumbling 

(3) grumbling 

(4) groaning 

68. (1) a lot 

(2 lots 

(3) over a lot 

t4) their lot 

69. ( would 

(2) will 

(3 should 

(4) may 

73. Identify the phrase containing 
Noun + Noun. 

( strong light 

t2) shed light 

(3 a light source 

(4 a ray of light 

72. He woke up to hear the sound of 
bells .. . . .  in the distance. 

Choose the right option to fill 
in the blank 

( clanging 

(2) banging 

3) buzzing 

(4) whistling 

(2) If you search for it in the 
school, you will get it. 

(3) You go there or they will not 
gwe you 

(4) She is not only good in 
English but also good at 
Maths. 

oo«ca- [A] 
71, Identify the complex sentence from 

the following 

(1 We read books but they watch 
TV. 

over 

about 

67. (I) 

c2) 

(66-70) The following passage has five 
numbered blanks. For each blank, 
four alternatives are given. Identify 
the correct option for each blank. 

Men who are always (66)about 
their poverty, complaining of their 
difficulties, whining (67) their troubles, 
and thinking that (68) in this world is 
mean and poor, (69) never get any 
happiness out of life or achieve 

(70)success 

TET-3IL-EM'TM [14] 



74. (a) Amrita is getting married 
next month. 

(b) Amrita will get married next 
month. 

Read the statements (a) and (b) and 
choose the right option. 
(1) only (a) is correct. 
(2) only (b) is correct. 
(3) Both (a) and (b) are correct. 
(4) Both (a) and (b) are incorrect 

75, When Padma stood first in class, 
Rekha, out of jealousy, ..... 
(1) ate her heart out 
(2) lost her heart. 
(3) poured out her he~rt. 
(4) praised from the bottom of 

her heart. 

76. I expect to get a prize 
The underlined part of the 

sentence is called a Noun phrase 
because • 
(1 it is the object of the verb 

expect'. 
(2) it contains a subject and a 

predicate 
(3) it qualifies the noun. 
(4) it is independent. 

77, Identify the correct passive 
sentence 
(1 A nice house is had by them. 
(2) I am not fitted by my shoes. 
(3) A Greek goddess is resembled 

by Sriya. 
(4) The furniture was broken up 

for firewood 

78. They ought to be more sensible, 
, 

. . . . . . . .  

Choose the correct question 
tag to complete the sentence. 
tD oughtn't they 
(2) shouldn't they 
(3) musn't they 
04) can't they 

79. 

80. 

81. 

ooa«ca- [A] 
Choose the appropriate reply to an 
invitation. 
( Sorry. I'm afraid I am not free. 

(2) I was terribly sorry to hear 
that. 

(3) That's very kind of you, 
(4) 'Thanks, I'd love some. 

This man on Ty said that 
dinosaurs .... 

Choose the later part of the 
sentence which is grammatically 
correct. 
(1) had been around for 

250 million years. 

were about 250 million years 
were around for 250 million 

, 

years 
have been for 250 million 
years. 

One speaks/ a strange dialect / 
(a) (b) 

where / I came from 

(e) (d 

The sentence is divided into 
four parts labelled as (a), (b), (e) and 
(d. Identify the part of the 
sentence which has an error 

ta 
(02) (b) 

(3) (e) 

(4 «d 

82. John hates women. He is a 

(D misogynist 

(2) polygot 

(3) prodigy· 

(4) mercenary 

(3) 

c2 
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85. 

oo«ca- [A] 
86. Remedial teaching is .... 

tD nothing but re-teaching. 

88, Listening to public speeches 
belongs to 
(1) «Focussed listening 

(2) Gist listening 
(3) Appreciative listening 
(4) Casual listening 

87. One of the features of Reflective 
teaching is ....­ 

(1) Predicting 
(2) Clarifying 
(3) Summarizing 
(4) Gathering new evidences 

something where achievement 
is expected to be very low. 

need not be highly specific and 
need based. 

more like a crash course. 

Another term usea for graphic 
organizers in English Language 
Teaching is ....... 
(1) Information transfer 

(2) Graphic Reading 

(3) Almanacs 

(4) Discourses 

One of the following helps us to get 
a bird's eye view of the book. 
Identify it 

(1 Jacket 

(2) Front page 

(3) Blurb 

(4) The preface 

(3) 

(4 

(2) 
• 

90. 

89. 

84. Identify the 'one word substitute 
from the following. 
(1 ride 
(2) participation 
(3) successful 
(4) omnipresen 

In the activity called Scale 
drawings' used to develop speaking 
skills of students, •• 
(1 One student passes the 

information verbally to the 
other from a graph / picture 
with a few gaps and the other 
tries to fill the gaps. 

(2) One student produces a 
diagram from the other 
students' description on a 
given squared paper. 

3 + The students guess what it is, 
when the teacher draws 
something indistinctly on the 
blackboard. 

(4) The students draw the picture 
based on the clues given by 
the teacher 

83. Read the parts of a sentences 
(@), (b), (e), (d) and (e), which are 
jumbled. 
(a) cashed on their internal rifts. 
(b) entering these countries for 

commercial gains. 
(e) and ultimately became their 

rulers. 
(d) the British slowly stepped into 

the internal politics of those 
countries 

(e) and over a period of time, 
gained total control. 

Now identify the right order 
(1 (d), (b),(e), (@), (e) 
(2) (a), (b), (d), (e), (e) 
(3) (), (d), (a), (e), (e) 
(4) (b),(d), (e), (a), te) 
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ooa«ca- [A] 
PART IV (b) : Social Studies - Content 

(I) en 

(2) enc 

(3) 0el10 

(4 ±Rb2o 

It is 6.10 am at Chicago (8730 W). 

The local time of Sydney (151E) 
IS •..• 

( 10.04 pm 

(2) 8.06 pm the previous day 

(3) 8.06 pm 

(4) 10.04 am 

873¢' a eve At z-r' 

±tse 6.I0 am sod 151 r5 
toe e 4±42La 

- . . 

( 10.04 pm 
(2) 8.06 pm, et'e­ 

(3) 8.06 pm 
(4) 10.04 am 

9, 'The most active volcano in the 
world is . 
(1 Mount Vesuvious 
(2) Stromboli 
(3) Mount Kilmanjaro 
(4) Fujiyama 
le¢'ebb c74 01-00 
() ±eS2a· 
(2) 2ee 
c3·±a5 ±t±sees' 

(4) ea. 

93. The Dibang and Lohit are the 
tributaries of this river. 

( The Ganges 

(2) The Sindhu 

(3) The Yamuna 

(4) The Brahmaputra 

c e S e  450&e: 

D are £# 
(2) sere 2# 
(3) lgoto p# 
(4) ca z> 

cdea stag=,o. 

(D ebb! 8231 W a:: 
ares .eds been 
0nee. 

(2) vs .ea es, A: 

.us ze 5k trees sec 
de. 

(3) &S h e  eat 2re 

et5kteuelaod due 

(4) voes;dee 
sa2a 

92. The topography of the Peninsular 
plateau is ..• 
(D Slightly tilting toward East. 
(2) Slightly tilting towards North 

East. 
(3) Slightly tilting towards South 

West. 

(4) Slightly tilting towards West. 
ek¢ts tis@en4et. 

91. Among the following, the correct 
statement is ..... 
(1) 8231 W longitude is taken as 

Standard Meridian of India. 

(2) The Indian standard time is 

bk hrs. ahead of Greenwich 
mean time. 

(3) Greenwich mean time is 

5k hrs. ahead of Indian 
standard time. 

(4) The standard meridian of 
India is passing through the 
city of Ahmedabad. 94. 
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96. One of the following s not the 
planetary winds. 

(I) Tade winds 

2 Polar winds 

(3) Monsoon winds 

(4 Westerlies 

(I) zu.ace 

2) e° 

(3) Le 

(4 R e  

98. 

--a«ca- [A] 
The layer of the atmosphere where 
radio waves are transmitted from 
the earth are reflected back 
( Troposphere 
(2) Thermosphere 
(3) Stratosphere 
(4) Mesosphere 
$.% a 5 2ad' 4Ls el 
gob:d, pee 00to $7% 

etc 

(1) a:re 

02) ±'c:ea... 

(3) Ro.see 
(4) aL:re 

97. One of the following statement is 
not correct about coffee cultivation 
in India 

(1 The coffee plants are grown 
well in tropical and sub­ 
tropical climates. 

(2) India produces about 4% of 
the world's coffee production. 

(3) The Arabica variety brought 
from Yemen is produced in the 
country. 

64) Coffee cultivation was 
introduced on the Baba 
Budan hills initially 

t2) e =' 4byN' 4% rte&' 

a. 

99. The uppermost part of the mantle 
is called ... 

(1) Lithosphere 
(2 Asthenosphere 
(3) Mesosphere 
(4) Barysphere 
gee 2st;an'es. 
(1) Las5­ 

(2) ,_,.;; •• v,r 
De? 

(3) 282a£ 

(4) co:e5 

100. The process in which the water 
vapour changes into water is 
called ..• 
(1) Evaporation 
(2) Condensation 
(3) precipitation 
(4) Humidity 
te st t tee ta :e: 

(I) eue 

(2) ¢±e­ 
(3) o;due 

(4 
P 

TET-311-EM/TM [18] 



101. The tropical deserts are located on 
the .... 
(D Eastern margins of the 

content. 
(2) Northern margins of the 

continent. 
(3) Southern margins of the 

continent 
(4) Western margins of the 

continent. 
ea¢e 2cs sea t e­ 
. e  

" (1) be 2 
(2) &±-£­ 

(3) c±re 2. 
(4) 

., ,.,_,_ 
wsee 

102. Rearing of silkworms for the 
production of silk fibre is known 
as 

(1 Siviculture 
(2) Sericulture 
(3) Epiculture 
(4) Aquaculture 
-a¢bgegtore2eta%± 

(I) 0.0.5 .. --� 

(2) 0±e5. 
(3) 2eC 
(4) eye" 

103. The hardwood trees such as rose 
wood, ebony, mahogany are 
commonly grown in these forests, 
(I) Temperate evergreen forests. 
(2 Tropical deciduous forests 
(3) 'Tropical evergreen forests, 
(4) Temperate deciduous forests. 

t u  el s 4  ,  +age 
l o w , i v  

bore totted'zero 

(D :zbc:a! 
(2) &oAeua>so 
(3) AS=ebb;a&e 
(4) :Cuc owe> 

«oaca- [A] 
104. The Solar Eclipse occurs when ...• 

(I) 'The Moon comes in between 
the Earth and the Sun 

(2) The Earth comes in between 
the Sun and the Moon 

(3) The Sun comes between the 
Moon and the Earth 

(4) The Moon, the Earth and the 
Sun are not in a straight line 

i r e  ... 

( &25, % ts¢> 14$7 

Dote. 
- - . 

(2) Le$4, 02,1 4 32¢ 

c2&be. 

t3) Leg23, ± 2¢2 12¢ 

22cc:tac. 

(4) 2, te0, ct2102/ 

±:c2cc-to0 

105. This part ot the ocean consists of 
Petroleum and Natural gas 

(1) Continental slope 

(2) Continental shelf 

(3) Deep Sea plain 

(4) Ocean trenches 

ge 2bed'zz:, ze 

es L0%, 
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106. The reasons for rapid growth of 
population in India. 
(a) A high birth rate. 
(b) A relatively lower death rate 
(c) Immigration. 
(D () and (b) 
(2) (a) and (e) 
(3) (b) and (e) 
(4) (a), (b) and (e 

z es den 2&at te 

ze/ere 

(a) eezeda 

tb) g o e r  be  
(e) ea 

(D (a)bots (b)' 

(2 (a)ts (c 

(3) (b)1boss (c) 

(4) (a),(b)%be (c) 

107. One of the following was not the 
objectives of Indian National 
Congress. 
(D To build a nationalist 

consciousness among the 
diverse people of India and 
unite them. 

(2) 'To fight against the British 
Govt. for independence. 

(3) To promote democratic ideals. 
(4 To create common political 

platform or programme 
ti J &'gt vb et' egg 

oaaca [A] 
108. The Urdu poet who spoke of the 

need for a 'North-West Indian 
Muslim State' is .... 

(I Mohd. Ali Jinnah 

2) Chaudhry ahmat Ali 

(3) Maulana Azad 

4) Mohammad Iqbal 

os es'or&rte.= 
du 

( ts.r ±s 

c2) 2et 2,6 ±R 

(3) Jez see 

109, Greenpeace movement was started 
as a protest against ..• 

(I) 'The American underwater 
nuclear tests near Alaska. 

(2) The Bhopal Gas Disaster 

3 The construction of large 
multi purpose dams 

(4) 'The nuclear arms race, 
intensified after the end of 
Vietnam war. 

(D uses=co'ebce 
r s , p e e  w e l l _  o w e  

02) apse pi¢vs2= 
e. 

Sloe 
(4 ec a& ~ece els 

us=±2zztee±, 
. . .. . 

daze bay=. 

1 

(2 

3 

¢ Ace¢' vet ± op:t= 

t re;e»00=. 

Ea±.»0¢±e.. 
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cartridges 
by Lord 

bog:cezae&be: 

coccebte. 

2v0, 0cw2gc=. 

(4 Supply of greased 
to the sepoys 
Canning. 

1857b± e42. 

(3) 

(2) 

vooaaca- [A] 
112. 'The immediate cause for the revolt 

of 1857 was. 

(1) Introduction of subsidiary 
alliance and doctrine of lapse. 

(2) Utilisation of Indian economic 
resources to meet the needs of 
the British economy. 

(3) Introduction of Western 
education, 

(I) 

02) 

(3) 

(4 

a##eerbe2gt 

get2et4e±0a 

110. For the first time, the sixteen 
Mahajanapadas are mentioned in 
these texts .... 

(1) 'The Jainist 

(2) The Greek 

(3) The Chinese 

(4) The Buddhist 

(4) e{ ef %e> 5 2% 
etetaze. 

Rousseau 

Montesquieu 

eeSa'· 

ea 

Aristotle 

Jean Jacques 

contract. 
(4) The spirit of 

the laws. 

be20ab.... 

Des Ag 

ct.e 

113. One among the following is not 
correctly matched ... 

(1Two treaties of . John Locke 
Government. 

(2 The Prince. 
(3 The Social 

02) es¢ 

3) cc£ e; 

+ 3 e¢  ¢  

woo. 

It. The treaties that gave 'Alsace and 
Lorrain'to Germany was .... 

(I) 'The treaties of Paris. 

(2) The treaty of Frankfurt 

(3) 'The treaty of Versailles. 

(4) The treaty of Sevres 
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(I) 23. %.{± 

02 2.5e,¢ 

3 .ts. e,' 
w -·-· 

(4 .:2 e  

·pot des z lat :ct 
t 52 Ape 

( .+.23.e 

1 1 5 . N o  taxation without 
representation"was the slogan of 
this revolution 
(1) The Glorious revolution 
(2) The French revolution 
(3) 'The American colonies 
(4) The Russian revolution 

114. The languages that are considered 
as offshoots of Latin. 
(D Spanish and Portuguese 
(2) Spanish and Germany. 
(3 Portuguese and Germany 
(4) Spanish and French 

c+ Jet es e we z 
±canes. 

Ekamranat ha 

Vidyanat ha 

Vallabhacharya 

(I) 

02 

c3 

( I) gt° 

02 tee.at:, 

(3) ctec: 

(4 t­ we 

ce,a ewe t.5ea) z=: 
e e 0 2 b ee  

.  .  

118. With the blessing of this sage, 
Harihara and Bukkarayulu 
founded the Vijayanagara Empire 

ooacca- [A] 
117. The Kakatiya ruler who shifted the 

capital city from Anmakonda to 

Orugallu. 

(I Rudramadevi 

(2 Ganapathideva 

(3) Prathaparudra H 

04) Rudradeva 

e-.%¢ 

pace g> 
. ,., .... ,. - 

---i;. ..,.-. 

c2) 

.3 
(4 

I16. 'The Pieta', the most remarkable 
sculpture belongs to ..... 
(D Leonardo Da-Vinci 
t2 Raphael 
(3) Albert Durer 

(4 Michelangelo 

re tie:zeaa 
(D z e d s 2% ,  

t2) teas5 

(4) Vidyaranya Swamy 

uktse© toss, sacs 
t ± s e e .  

(4) 
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119, The immediate cause for the 
Second World War was .... 

(D Policy of 'appeasement' of 
Hitler. 

(2) Invasion of Poland as a 
punishment for refusing to 
handover the port of Danzing. 

(3) Germany wanted to get back 
the territories lost by them in 
the Treaty of Versailles. 

(4) Germany's challenge to 
vengeful domination of the 
victorious allies 

a2 zz:at&zrzure. 

( 2uCeu.ceaze 

(2) ±eeel ts +,t} etesa,± 

Delzer2st tee2o 
4f 
w e  

(3), co£, e$ 5¢' 2130 
¢wee an 2,: 

(4. ±st0 3ea03, % See 

.±be 7eet t5 

120. Most of the Ashoka's inscriptions 
were written in .... 

(1 Pali script 

(2) Yiddish script 

(3) Brahmi script 

(4) Swahili script 

Booklet Code I A I 
121. Siksha, Kalpa, Vyakarana, Nirukta, 

Chanda and yothishya are ..... 

(I) Vedas 

(2) Puranas 

(3) Itihasas 

(4) Vedangas 

(1) Save» 

(2) wee> 

(3) z0;#e 

(4) Se=ere 

122. The religious leader who preached 
the idea of 'one Jath, one God and 
one Religion for all' is. 

(1 Dr. BR. Ambedkar 

(2) Arigey Ramaswamy 

(3) Bhagyareddy Varma 

(4) Narayana Guru 

we«dos,s, t 

et3a&et0r 

(I) 2NU> 

2 • (Yiddish 

(3 ' s 

(4 2.»(Swahili 

(3) 
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ce0at&'e0ab2sleets. 
. - 

&4 

(4) He shall hold an office of 
profit under union, state and 
local government. 

(3) The nominated members of 
the Parliament also 
participate in the election of 
the President. 

(2) The Electoral college consists 
of elected members of both 
the Houses of Parliament and 
the State Legislative 
Assemblies to elect the 
President. 

(D The contesting person shall 
have completed 30 years of 
age. 

ooacoae [A] 
125. One of the following is correct 

regarding the election of the 
President of India. 

Commission 
schedule of announces the 

election 
NOTA was first introduced as 
an option in the state 
assembly election held in 

Uttar Pradesh. 
v+ p ' 2 e  ±ts:5 2e 204 

(4 

(2) 2e ts: zoo 0g re ± 
' 

es 7co, ep:et0e2 
LL02%. 

•• 
(1 seared' egE 324 ' 2:e 

123. One of the following statements is 
not correct about the Election 
Commission. 
(D Article 324 of the Indian 

Constitution states the 
formation, powers and 
functions of the Election 
Commission 

(2) Election Commission is an 
autonomous constitutional 
body. 

(3) The Election 

124. As per the 42nd amendment of the 
Indian Constitution, the two words 
that are included into the Preamble 
of the Constitution . 
(1 Sovereign' and 'Secular' 
(2) 'Sovereign' and 'Republe 
(3) Democratic' and Secular' 
(4) 'Socialist' and Secular'. 
veen gt'42. vex z:Lee 

zczzec2co. 

(1 c0 +° 

(2) c' 00$ 
(3) ·2eg' cw2 
(4) boss + 

(4) ate Tete ea% 
- - - � 

e4';cu. 
e t  

(I) 

(2) 2Re Are' 2es 4c 

e 25ye, 25ea2 
e 2we es = o?  

.e., 

(3) 2g±sec' ..a ec= 
·seoAz'Neuse. 
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K.M. ( 

(2) 

(3) 

(4 

129, The member of the Constitution 
Drafting Committee was .. .  

(  K.M Munshi 

(2) Babu Rajendra Prasad 

(3) Sarvepally Radhakrishna 

(4) Benegal Narsingrao 

(I» AI lets ts le> $4r 

cc. 

(2) ±pee ' ,  zen cc=u 

or. 

(3) oz222'Lu. 

sec cove ti%tote beg 

¢be a±&:ea2ec 

cs- [A] 
128. Justice JS. Verma Commission was 

appointed by the central 
government to provide suggestions 
on this . 

() Protect women from domestic 
violence. 

(2) Prevent sexual assault and 
abuse. 

(3) Prevent immoral human 
trafficking 

(4) Protect the victims of natural 
disasters. 

II 

21 

3) 

(1 VILA VII 

(2) IV:be V 

(3) II e  III 

(4) IHIL.De. IV 

c eared'z be wet' 3us 
alba age2etc:e 

do 

127. 'The Parliament alone is 
empowered to make laws on these 
ubjects .... 

1) Defence, Currency 

2) Sales Tax 

3) Kendriya Vidyalayas 
Central Schools. 

4) Irrigation, Police and Health 
care 

2+ tsse¢' r e  5  

et'et. 

126. In this part of the Indian 
Constitution, the fundamental 
rights and direct principles are 
incorporated ..• 

( I) VI and VII 

(2) IV and V 

(3) II and Ill 

(4) III and IV 
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d 2es, See' 2Me. 

est:et 

(1 textees;et4. 
(2) : 0092: 

+G3) e s ' cc :  
(4) Dai 02 

ooaace [A] 
131. A statistical tool used to measure a 

country's overall achievement in its 
social and economic dimensions is •. 
(D) Gender related development 

indicator 
(2) Human development index. 
(3) Multi-dimensional poverty 

index. 
(4) The social progress index. 

he-stb;ice 
u o so» it 
44es e nag 
w o e" o  

cs,a&et.±. 

ts2Lots. 

r 2ecUee,cop: 

200t e c ol  ­  

«3u 
64 

132. One of the main functions of 
NABARD is. . .  
(1 It provides loans to money 

lenders & commission agents. 
(2) It refinances the banks for 

extending loans for 
investment and production 
purpose in rural areas. 

(3) It inspects all the commercial 
banks. 

(4) It provides loans to state 
governments for the 
development of urban 
infrastructure, 

(I) (a), (b) and (d) 

(2) (b), (e) and (d) 

(3) (a), (b), and (c) 

(4) (a), (b), (e) and (d) 

obi@e/go 

(a) .0 10200%, egies 3% ,_ 

02zee. 

(b) zo Se oeoyo +e'eye 
±est.e. 

(e) buss z.a .o'vets. 

(d) ¢ et&aebsca 

4let. 

(I) (a),(b):ts (d) 

(2) (b),(e)bas, (d) 

(3) (a),tb)cs (c) 

(4) (a), (b),(c)%¢c (d 

130. The principle / principles of 
Panchasheel ..... 

(a) Respect for each others' 
sovereignty and territorial 
integrity. 

(b) Non-interference in the 
internal affairs of other 
countries. 

(e) Promoting peaceful 
co-existence. 

(d) To stop the growth of 
nationalism in the Middle 
East. 
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133. The amount of land operated by 
marginal farmers in India, is ... 
(1) 10.1 to 25 acres 
(2) 5.I to 10 acres 
(3) 2 6 t o 5  acres 

(4) upto 2.5 acres 
. M e i _  e  0%wL% 6 0%. L o o  

(1 10.1e 25 2¢% 

(2) 5.Lee 1I02±a 

(3) 2.6e52ce 

(4) 252 2  

134. The cities having more than 
10 million people are called as ..• 
(1 Metropolitan cities. 
(2) Mega cities 
(3) Class I eities 
(4) Aerotropolis 

I0:tel ±w lee%a 

2etc= 

(D zgS:eve 

ooa«coa [A] 
136. The state that is planning to shift 

completely to organic farming by 
2015. 

(I) Uttarakhand 
(2 Sikkim 

«3 Nagaland 

(4 Odisha 

2015 ±a! Tb= teat 110.2 
setts±zee 

()) dee! 
- . 

(2) is 

(3) eel 

(4 ..± 

137. For one of the transactions, IFSC 

ad Internet facility are not 
necessary 

r s  est ea sata sate 
l 

( NEFT 

02) RTGS 
(2) 

(3) 

(4) 

135. One of the following is an Indirect 
tax. 
(D Income Tax 
(2) Capital Gains Tas 
(3) Corporate Tax 

(4 Customs Duty 
6 ei 

0.%%.di? 

( scale 

02) =e1serf 
«3) g. .  

(4) : l o b e =  

3  

(4 

IMPS 

UsSD 

()) us 
. 

02 a2ala¢ 

(3) ts 

(4 .et 

138. One of the following is an activity of 
service sector .... 
(1 Trade 

e2 Rearing of cattle. 
(3) Mining 

(4) Agriculture 
e 4 _  
J u % %  
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ooa«ca [A] 

man's 
and 

139. Amartya Sen got Noble prize for his 
work on ... 

(1 Welfare Economics, Poverty 
and Political labourism. 

(2) Welfare Economies, Poverty 
and Economic labourism. 

(3) Welfare Economies, Poverty 
and Historical labourism. 

(4) Welfare Economics, Poverty 
and Social labourism. 

4, 4, ..4 . 4  el  
s w o e  » % s t  

le0Dee0%. 

41. Knowledge that involves 
thinking, understanding 
learning is ... 

(1 Procedural knowledge. 

(2) Factual knowledge. 

(3) Metacognitive knowledge. 

(4) Conceptual knowledge. 

Le e, 
wo ol  4q%"we 

t:tee, Sec. 

a l e ¢± .  ±¢ 

bet'be' t ode 

aces,see 

()) 

(2) 

(3) 

(4) 

142. The concept of 'Unity in Diversity' 
in students is the learning objective 
of .... 

(I Primary stage 

(2 Upper primary stage 

(3) Secondary stage 

(4) Higher stage 

()) .Le: 

c2 z> 

(3) o ·- 
(4) Acee 

(I) el e5 ,  2:2: 0a. 

MC de.tee. 

(2 et: a&ie, :s> 00 
% 

5e0.. 

(3 ·..4_ ego oz �.;:;.,, 
e 

- . 
sop:deoe. 

(4 et egg3e, �:..:l!'tw 0 

veteee. 

140. Expected specific behavioural 
changes in students are called .... 

() Aims 

(2) Objectives 

3) Goals 

(4) Educational standards 
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143. Exploring knowledge with 
creativity comes under 
approach ..• 

(1) Subject centred approach. 

(2 Behavioural approach 

(3) Constructivist approach. 

(4) Programmed learning. 

this 
this 

ooac- [A] 
145. Maps that explains the depth of 

oceans are ... 

(I Ethnographical maps 

(2 Vegetatian maps 

(3) Climatic maps 

(4) Bathymetric maps 

l e  
�--·· .__, __ 

(3) pt¢r.re 

( pgS¢see 

144. 'Social Studies is the hfe of man in 
some particular place at some 
particular time'- is the concept 
of .. 

146. The following unit 
extensive knowledge 
Studies teacher. 

gives an 
to a Social 

(l) E.B. Wesley 

(2) Muffat 

(3 Social Studies committee of 

School Board . Victoria. 

(4 Forrester 

( E B :  

(  Teaching unit 

(2) Experience unit 

(3) Resource unit 

(4) Subject matter unit 

veg3 4sot± 23502 at. 
=2 -: . .S  
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147, 'The most powerful teaching 
instrument in Social Studies is ..• 

(1) Demonstration 

(2) Questioning 

(3) Projects 

(4) Activities 

(1 G!��.�-- ... , 

t2 22et 

(3) ezoe 
• 

(4 co 

148. If a child eats a mango and feels it 
is tasty and generalises that all 
mangoes are tasty. This method 
l o  

(1) Deductive method 

(2) Inductive method 

(3 Synthesis met hod 

(4) Analytical method 

l g 2 e  0&. 4ea& 

ego 2et, et can 

duaet Dgres 2 

s zo x  

ooa«ca [A] 
149. Formative evaluation consists of 

these elements 

(a) Projects 

(b) Slip tests 

(e) Child participation & 

reflection. 

(d) Written works. 
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150. The fifth experience in Edgadale's 
cone of experience is .• 

(I) Demonstrations 

(2) Field trips 

(3) Exhibits 

(4) Motion pictures 
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